



Integrated square error of nonparametric estimators of regression function

Yu Miao^{a,b,*}, Jun Ye^a, Wanyu Zhang^c

^aCollege of Mathematics and Information Science, Henan Normal University, Henan Province, 453007, China

^bHenan Engineering Laboratory for Big Data Statistical Analysis and Optimal Control, Henan Normal University, Henan Province, 453007, China

^cDepartment of Mathematical Sciences, University of Liverpool, Merseyside, L69 7ZX, England

Abstract. In the present paper, we consider the nonparametric regression and study the integrated square error for nonparametric estimate of the unknown function. For the case that the errors of the regression model are martingale differences, the asymptotic normality and consistency of the integrated square error are established. These results improve the works in Ioannides [5].

1. Introduction

Consider the nonparametric regression

$$Y_{n,i} = f(x_{n,i}) + \varepsilon_{n,i}, \quad i = 1, \dots, n, \quad (1.1)$$

where $x_{n,1}, \dots, x_{n,n}$ are some fixed points, $\varepsilon_{n,1}, \dots, \varepsilon_{n,n}$ are observational errors with mean 0 and f is an unknown function to be estimated. We consider the general linear estimate of the form

$$\hat{f}_n(x) = \sum_{i=1}^n W_{n,i}(x) Y_{n,i}, \quad x \in [0, 1], \quad (1.2)$$

where the weight functions $W_{n,i}(x) = W_{n,i}(x, \bar{x}_n)$, $i = 1, \dots, n$, depend on the fixed design points $\bar{x}_n = (x_{n,1}, \dots, x_{n,n})$.

Hall [2, 3] studied a very general version of weighted integrated square error (ISE) of nonparametric estimators \hat{f}_n ,

$$I_n := \text{ISE} = \int_0^1 (\hat{f}_n(x) - f(x))^2 W(x) dx,$$

2020 Mathematics Subject Classification. Primary 60F15; Secondary 62G05.

Keywords. Regression function; nonparametric estimators; integrated square error; asymptotic normality; consistency; martingale differences.

Received: 20 February 2023; Revised: 14 April 2023; Accepted: 30 May 2023

Communicated by Biljana Popović

Research supported by National Natural Science Foundation of China (NSFC-11971154).

* Corresponding author: Yu Miao

Email addresses: yumiao728@gmail.com (Yu Miao), 13193851807@163.com (Jun Ye), study.mathhw@gmail.com (Wanyu Zhang)

where $W(x)$ is a weight function with $W(x) > 0$ for all $x \in [0, 1]$. When \hat{f}_n is a kernel estimator of the unknown function f , Hall [3] proved the laws of large numbers and central limit theorems of I_n . By using the martingale theory and the central limit theorem of the degenerate U -statistics with variable kernels, Hall [2] derived the central limit theorems for ISE of multivariate nonparametric density estimators. Nadaraya [7] proved the asymptotic normality of the ISE in the random design case, which is used to construct a test for testing the unknown regression function f . When the estimator \hat{f}_n has the general linear form (1.2) and the errors $\varepsilon_{n,1}, \dots, \varepsilon_{n,n}$ are independent identically distributed random variables, Ioannides [5] obtained the central limit theorem and law of large numbers for I_n . Wu et al. [9] studied the asymptotic properties for ISE of the general linear estimator in nonparametric regression assuming that the error process is a moving average process.

In the present paper, along with the works in Ioannides [5], we continue to study the asymptotic properties of I_n under the case that the errors are martingale differences. These results improve the works in Ioannides [5]. In the next section, the main results, the asymptotic normality and consistency for I_n , are stated. The proofs of the main results will be given in Section 3. Throughout this paper, the symbol C denotes a positive constant which is not necessarily the same one in each appearance. In order to simplify the notation, write $x_i, \varepsilon_i, Y_i, W_i, h$ and $k_{i,j}$, instead of $x_{n,i}, \varepsilon_{n,i}, Y_{n,i}, W_{n,i}, h_n$ and $k_{n,i,j}$, respectively. Without loss of generality, we assume that the weight function $W(x) \equiv 1$.

2. Main results

Firstly, we give the following assumptions to be used.

(A) Let $\{(\varepsilon_i, \mathcal{F}_i); 1 \leq i \leq n, n \geq 1\}$ be an array of martingale differences with

$$\sup_i \|E(|\varepsilon_i|^p | \mathcal{F}_{i-1})\|_\infty < \infty \text{ a.s. for some } 2 < p \leq 4$$

and

$$E(\varepsilon_i^2 | \mathcal{F}_{i-1}) = \sigma_i^2 \text{ a.s. and } \sup_i \sigma_i^2 < \infty,$$

where $\{\sigma_i^2, i \geq 1\}$ is a sequence of finite positive constants.

(B) Assume that $\{h_n, n \geq 1\}$ is a sequence of positive constants, such that $0 < h := h_n \rightarrow 0$ and $nh^{3/2} \rightarrow \infty$.

(C) The function $f(x)$ satisfies Lipschitz condition with order 1 on $[0, 1]$.

(D) The weight functions $\{W_i(x), i = 1, \dots, n\}$ satisfy the following conditions, for all $n \geq 1$:

(i) There exists a constant $C > 0$ such that

$$\sup_{x \in [0,1]} \max_{1 \leq i \leq n} |W_i(x)| \leq \frac{C}{nh}.$$

(ii) There exists a constant $C > 0$ such that

$$\sup_{x \in [0,1]} \sum_{i=1}^n |W_i(x)| \leq C.$$

(iii) $\sup_{x \in [0,1]} \left| \sum_{i=1}^n W_i(x) - 1 \right| = O(n^{-1/2}h^{-1})$.

(iv) $\sup_{x \in [0,1]} \sum_{i=1}^n |W_i(x)| \cdot |f(x_i) - f(x)| I(|x_i - x| > n^{-1/2}h^{-1}) = O(n^{-1/2}h^{-1})$.

(v) There exists a constant $\sigma^2 > 0$ such that

$$\frac{\sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-1} k_{i,j}^2 \sigma_j^2}{u_n} \rightarrow \sigma^2, \text{ as } n \rightarrow \infty,$$

where

$$k_{i,j} = \int_0^1 W_i(x)W_j(x)dx \text{ for } i, j = 1, \dots, n$$

and

$$u_n = \sum_{i=2}^n \sum_{j=1}^{i-1} k_{i,j}^2.$$

(vi) Assume that the sequence (u_n) satisfies

$$\frac{1}{u_n n^2 h^3} = o(1), \text{ as } n \rightarrow \infty.$$

Remark 2.1. From the conditions D(i) and (ii), it is easy to check that for every $n \geq 1, 1 \leq i, j \leq n,$

$$k_{i,j} \leq \frac{C}{(nh)^2} \text{ and } \sum_{i=1}^n |k_{i,j}| = \sum_{j=1}^n |k_{i,j}| \leq \frac{C}{nh}.$$

Now we start to state our main results as follows.

Theorem 2.2. Let the assumptions (A)-(D) hold, then

$$\frac{I_n - EI_n}{\sqrt{u_n}} \xrightarrow{d} N(0, 4\sigma^2).$$

Theorem 2.3. Under the assumptions in Theorem 2.2, let $\{a_n, n \geq 1\}$ be a sequence of positive constants such that $a_n = o(nh^{3/2}),$ then we have

$$a_n(I_n - EI_n) \xrightarrow{P} 0.$$

Theorem 2.4. Under the assumptions in Theorem 2.2, if

$$\sum_{n \geq 1} \left(\frac{1}{(n^2 h^3)^{p/2}} \vee \frac{1}{(nh)^{p-1}} \right) < \infty,$$

then we have

$$I_n - EI_n \xrightarrow{a.s.} 0.$$

Remark 2.5. In [5], Ioannides studied the asymptotic normality and consistency for $I_n,$ when the errors $\varepsilon_{n,1}, \dots, \varepsilon_{n,n}$ are independent identically distributed random variables with $\sup_i E|\varepsilon_i|^4 < \infty.$ Hence our results extend the works in Ioannides [5] from independent case to martingale difference case and weaken the moment condition.

Remark 2.6. The condition D(vi) is weaker than the condition $u_n > cn^{-2}h^{-4}$ for some constant $c > 0,$ which was assumed in Ioannides [5].

Remark 2.7. Theorem 2.3 gives the convergence rate of $I_n - EI_n.$

3. Proofs of main results

In order to obtain the main results, we examine the following quantity,

$$\begin{aligned}
 I_n - EI_n &= \int_0^1 (\hat{f}_n(x) - f(x))^2 W(x) dx - \int_0^1 E(\hat{f}_n(x) - f(x))^2 dx \\
 &= \int_0^1 (\hat{f}_n(x) - E\hat{f}_n(x) + E\hat{f}_n(x) - f(x))^2 dx \\
 &\quad - \int_0^1 E(\hat{f}_n(x) - E\hat{f}_n(x))^2 dx - \int_0^1 (E\hat{f}_n(x) - f(x))^2 dx \\
 &= \int_0^1 (\hat{f}_n(x) - E\hat{f}_n(x))^2 dx - \int_0^1 E(\hat{f}_n(x) - E\hat{f}_n(x))^2 dx \\
 &\quad + 2 \int_0^1 (\hat{f}_n(x) - E\hat{f}_n(x))(E\hat{f}_n(x) - f(x)) dx \\
 &= \int_0^1 \left(\sum_{i=1}^n W_i(x) \varepsilon_i \right)^2 dx - \int_0^1 E \left(\sum_{i=1}^n W_i(x) \varepsilon_i \right)^2 dx \\
 &\quad + 2 \int_0^1 \left(\sum_{i=1}^n W_i(x) \varepsilon_i \right) (E\hat{f}_n(x) - f(x)) dx \\
 &= \sum_{i=1}^n \left(\int_0^1 W_i^2(x) dx \right) \varepsilon_i^2 + 2 \sum_{1 \leq j < i \leq n} \left(\int_0^1 W_i(x) W_j(x) dx \right) \varepsilon_i \varepsilon_j \\
 &\quad - \sum_{i=1}^n \left(\int_0^1 W_i^2(x) dx \right) (E\varepsilon_i^2) - 2 \sum_{1 \leq j < i \leq n} \left(\int_0^1 W_i(x) W_j(x) dx \right) (E\varepsilon_i \varepsilon_j) \\
 &\quad + 2 \sum_{i=1}^n \left(\int_0^1 W_i(x) (E\hat{f}_n(x) - f(x)) dx \right) \varepsilon_i \\
 &= \sum_{i=1}^n \left(\int_0^1 W_i^2(x) dx \right) (\varepsilon_i^2 - E\varepsilon_i^2) + 2 \sum_{1 \leq j < i \leq n} \left(\int_0^1 W_i(x) W_j(x) dx \right) \varepsilon_i \varepsilon_j \\
 &\quad + 2 \sum_{i=1}^n \left(\int_0^1 W_i(x) (E\hat{f}_n(x) - f(x)) dx \right) \varepsilon_i \\
 &= \sum_{i=1}^n k_{i,i} (\varepsilon_i^2 - E(\varepsilon_i^2 | \mathcal{F}_{i-1}) + E(\varepsilon_i^2 | \mathcal{F}_{i-1}) - E\varepsilon_i^2) + 2 \sum_{i=2}^n \sum_{j=1}^{i-1} k_{i,j} \varepsilon_i \varepsilon_j + 2 \sum_{i=1}^n d_i \varepsilon_i \\
 &= \sum_{i=1}^n k_{i,i} (\varepsilon_i^2 - E(\varepsilon_i^2 | \mathcal{F}_{i-1})) + 2 \sum_{i=2}^n \sum_{j=1}^{i-1} k_{i,j} \varepsilon_i \varepsilon_j + 2 \sum_{i=1}^n d_i \varepsilon_i \\
 &\quad + \sum_{i=1}^n k_{i,i} (E(\varepsilon_i^2 | \mathcal{F}_{i-1}) - E\varepsilon_i^2) \\
 &=: I_{1n} + 2I_{2n} + 2I_{3n} + I_{4n},
 \end{aligned}$$

where

$$\begin{aligned}
 I_{1n} &= \sum_{i=1}^n k_{i,i} (\varepsilon_i^2 - E(\varepsilon_i^2 | \mathcal{F}_{i-1})), \quad I_{2n} = \sum_{i=2}^n \sum_{j=1}^{i-1} k_{i,j} \varepsilon_i \varepsilon_j, \\
 I_{3n} &= \sum_{i=1}^n d_i \varepsilon_i, \quad I_{4n} = \sum_{i=1}^n k_{i,i} (E(\varepsilon_i^2 | \mathcal{F}_{i-1}) - E\varepsilon_i^2)
 \end{aligned}
 \tag{3.1}$$

and

$$\begin{aligned}
 k_{i,j} &= \int_0^1 W_i(x)W_j(x)dx, \quad \text{for } i, j = 1, \dots, n, \\
 d_i &= \int_0^1 W_i(x)(E\hat{f}_n(x) - f(x))dx, \quad \text{for } i = 1, \dots, n.
 \end{aligned}
 \tag{3.2}$$

From the condition (A), we have

$$I_{4n} = 0 \text{ a.s.} \tag{3.3}$$

Now, we need to recall the following central limit theorem of martingale to prove the asymptotic normality for $I_n - EI_n$.

Proposition 3.1. [4, Corollary 3.1] Let $\{S_{i,n}, \mathcal{F}_{i,n}; 1 \leq i \leq k_n, n \geq 1\}$ be a zero-mean, square integrable martingale array with difference $\{X_{i,n}; 1 \leq i \leq k_n, n \geq 1\}$. Supposed that the following conditions hold:

- (1) The σ -fields are nested; that is, $\mathcal{F}_{i,n} \subseteq \mathcal{F}_{i+1,n}$ for $1 \leq i \leq k_n, n \geq 1$.
- (2) For all $\varepsilon > 0$,

$$\sum_{i=1}^{k_n} E(X_{i,n}^2 I(|X_{i,n}| > \varepsilon) | \mathcal{F}_{i-1,n}) \xrightarrow{\mathbb{P}} 0$$

(3)

$$\sum_{i=1}^{k_n} E(X_{i,n}^2 | \mathcal{F}_{i-1,n}) \xrightarrow{\mathbb{P}} 1.$$

Then we have

$$S_n = \sum_{i=1}^{k_n} X_{i,n} \xrightarrow{d} N(0, 1).$$

Lemma 3.2. [6] Let $\{(X_i, \mathcal{F}_i); 1 \leq i \leq n\}$ be a finite sequence of a martingale difference and assume that there exists a positive constant M such that for all $i \geq 1, E|X_i|^p < M$ for some $1 < p \leq 2$. Let $x > 0$, then we have

$$\mathbb{P}\left(\max_{1 \leq i \leq n} |S_i| > nx\right) \leq \frac{1}{n^p x^p} E|S_n|^p \leq \frac{b_p^p}{x^p n^p} \sum_{i=1}^n E|X_i|^p \leq \frac{M}{x^p} b_p^p n^{1-p},$$

where $S_n = \sum_{i=1}^n X_i, b_p = 18pq^{\frac{1}{2}}$ and q is such that $\frac{1}{p} + \frac{1}{q} = 1$.

Lemma 3.3. Let $\{(X_i, \mathcal{F}_i); 1 \leq i \leq n\}$ be a finite sequence of a martingale difference and assume that for all $1 \leq i \leq n, E|X_i|^p < \infty$ for some $p \geq 2$. Let $x > 0$, then we have

$$E\left|\sum_{i=1}^n X_i\right|^p \leq b_p^p \left(\sum_{i=1}^n (E|X_i|^p)^{2/p}\right)^{p/2},$$

where $b_p = 18pq^{\frac{1}{2}}$ and q is such that $\frac{1}{p} + \frac{1}{q} = 1$.

Proof. By the Burkholder’s inequality (cf. Hall and Heyde [4]), we have

$$E \left| \sum_{i=1}^n X_i \right|^p \leq (18pq^{1/2})^p E \left| \sum_{i=1}^n X_i^2 \right|^{p/2}.$$

In addition, by the Minkowski’s inequality, we get

$$E \left| \sum_{i=1}^n X_i^2 \right|^{p/2} \leq \left(\sum_{i=1}^n (E |X_i|^p)^{2/p} \right)^{p/2}.$$

Hence the desired results can be obtained. \square

Lemma 3.4. *Let the assumptions (A), (B), (D)(i), (D)(ii), (D)(v) and (D)(vi) hold, then we have*

$$\frac{1}{\sqrt{u_n}} I_{2n} \xrightarrow{d} N(0, \sigma^2).$$

Proof. For each $2 \leq i \leq n$, define

$$Z_i = \varepsilon_i \sum_{j=1}^{i-1} k_{i,j} \varepsilon_j, \tag{3.4}$$

then it is easy to see that Z_i is \mathcal{F}_i -measurable for each i and $E(Z_i|\mathcal{F}_{i-1}) = 0$. Hence $\{(Z_i, \mathcal{F}_i); 2 \leq i \leq n, n \geq 1\}$ is an array of martingale difference and

$$\frac{1}{\sqrt{u_n}} I_{2n} = \frac{1}{\sqrt{u_n}} \sum_{i=2}^n \sum_{j=1}^{i-1} k_{i,j} \varepsilon_i \varepsilon_j = \frac{1}{\sqrt{u_n}} \sum_{i=2}^n Z_i.$$

From Proposition 3.1, it is enough to check that for any $\epsilon > 0$,

$$\frac{1}{u_n} \sum_{i=2}^n E \left(Z_i^2 I(|Z_i| > \epsilon \sqrt{u_n}) | \mathcal{F}_{i-1} \right) \xrightarrow{\mathbb{P}} 0 \tag{3.5}$$

and

$$\frac{1}{u_n} \sum_{i=2}^n E \left(Z_i^2 | \mathcal{F}_{i-1} \right) \xrightarrow{\mathbb{P}} \sigma^2. \tag{3.6}$$

For $p > 2$, from Lemma 3.3, we have

$$\begin{aligned} E|Z_i|^p &= E \left(\left| \sum_{j=1}^{i-1} k_{i,j} \varepsilon_j \right|^p E(|\varepsilon_i|^p | \mathcal{F}_{i-1}) \right) \\ &\leq C E \left| \sum_{j=1}^{i-1} k_{i,j} \varepsilon_j \right|^p \leq \left(\sum_{j=1}^{i-1} k_{i,j}^2 (E|\varepsilon_j|^p)^{2/p} \right)^{p/2} \leq C \left(\sum_{j=1}^{i-1} k_{i,j}^2 \right)^{p/2}. \end{aligned} \tag{3.7}$$

So, by using Remark 2.1, we get

$$\begin{aligned} \frac{1}{u_n^{p/2}} \sum_{i=2}^n E|Z_i|^p &\leq C \frac{1}{u_n^{p/2}} \sum_{i=2}^n \left(\sum_{j=1}^{i-1} k_{i,j}^2 \right)^{p/2} \\ &\leq C \frac{n/(nh)^{3p/2}}{1/(n^2 h^3)^{p/2}} \leq \frac{C}{n^{\frac{p}{2}-1}} \rightarrow 0, \end{aligned}$$

which implies (3.5). In order to obtain (3.6), since

$$\begin{aligned} & \sum_{i=2}^n E(Z_i^2 | \mathcal{F}_{i-1}) \\ &= \sum_{i=2}^n E \left(\left(\varepsilon_i \sum_{j=1}^{i-1} k_{i,j} \varepsilon_j \right)^2 \middle| \mathcal{F}_{i-1} \right) \\ &= \sum_{i=2}^n E(\varepsilon_i^2 | \mathcal{F}_{i-1}) \sum_{j=1}^{i-1} k_{i,j}^2 \varepsilon_j^2 + 2 \sum_{i=2}^n E(\varepsilon_i^2 | \mathcal{F}_{i-1}) \sum_{j=1}^{i-2} \sum_{l=j+1}^{i-1} k_{i,j} k_{i,l} \varepsilon_j \varepsilon_l \\ &= \sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-1} k_{i,j}^2 \varepsilon_j^2 + 2 \sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-2} \sum_{l=j+1}^{i-1} k_{i,j} k_{i,l} \varepsilon_j \varepsilon_l \\ &:= U_{n1} + U_{n2} \quad a.s., \end{aligned}$$

it is enough to show

$$\frac{1}{u_n} U_{n1} \xrightarrow{\mathbb{P}} \sigma^2 \quad \text{and} \quad \frac{1}{u_n} U_{n2} \xrightarrow{\mathbb{P}} 0.$$

For any $\epsilon > 0$, from Lemma 3.2, we have

$$\begin{aligned} \mathbb{P} \left(\frac{1}{u_n} |U_{n1} - EU_{n1}| > \epsilon \right) &\leq \frac{C}{u_n^{p/2}} E \left| \sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-1} k_{i,j}^2 \varepsilon_j^2 - \sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-1} k_{i,j}^2 E \varepsilon_j^2 \right|^{\frac{p}{2}} \\ &= \frac{C}{u_n^{p/2}} E \left| \sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-1} k_{i,j}^2 (\varepsilon_j^2 - \sigma_j^2) \right|^{\frac{p}{2}} \\ &= \frac{C}{u_n^{p/2}} E \left| \sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-1} k_{i,j}^2 (\varepsilon_j^2 - E(\varepsilon_j^2 | \mathcal{F}_{j-1})) \right|^{\frac{p}{2}} \\ &= \frac{C}{u_n^{p/2}} E \left| \sum_{j=1}^{n-1} \left(\sum_{i=j+1}^n \sigma_i^2 k_{i,j}^2 \right) (\varepsilon_j^2 - E(\varepsilon_j^2 | \mathcal{F}_{j-1})) \right|^{\frac{p}{2}} \\ &\leq \frac{C}{u_n^{p/2}} \sum_{j=1}^{n-1} \left(\sum_{i=j+1}^n \sigma_i^2 k_{i,j}^2 \right)^{\frac{p}{2}} E \left| \varepsilon_j^2 - E(\varepsilon_j^2 | \mathcal{F}_{j-1}) \right|^{p/2} \\ &\leq \frac{C}{u_n^{p/2}} \sum_{j=1}^{n-1} \left(\sum_{i=j+1}^n k_{i,j}^2 \right)^{\frac{p}{2}} \\ &\leq C \frac{n/(nh)^{3p/2}}{1/(n^2 h^3)^{p/2}} \leq \frac{C}{n^{\frac{p}{2}-1}} \rightarrow 0, \end{aligned} \tag{3.8}$$

which, together with the condition D(v), implies that

$$\frac{1}{u_n} U_{n1} \xrightarrow{\mathbb{P}} \sigma^2.$$

Now for $1 < l < i < n$, define

$$T_{i,l} = \varepsilon_l \sum_{j=1}^{l-1} k_{i,j} \varepsilon_j,$$

then, for every $1 < i < n, \{(T_{i,l}, \mathcal{F}_i); 2 \leq l \leq n-1, n \geq 1\}$ is an array of martingale difference, and from Lemma 3.3, we have

$$\begin{aligned} E|T_{i,l}|^p &= E \left| \varepsilon_l \sum_{j=1}^{l-1} k_{i,j} \varepsilon_j \right|^p = E \left(\left| \sum_{j=1}^{l-1} k_{i,j} \varepsilon_j \right|^p E(|\varepsilon_l|^p | \mathcal{F}_{l-1}) \right) \\ &\leq CE \left| \sum_{j=1}^{l-1} k_{i,j} \varepsilon_j \right|^p \leq C \left(\sum_{j=1}^{l-1} k_{i,j}^2 (E|\varepsilon_j|^p)^{2/p} \right)^{p/2} \leq C \left(\sum_{j=1}^{l-1} k_{i,j}^2 \right)^{p/2}, \end{aligned}$$

which, by the Minkowski inequality and Lemma 3.3, implies

$$\begin{aligned} E \left| \sum_{i=2}^n \sigma_i^2 \sum_{j=1}^{i-2} \sum_{l=j+1}^{i-1} k_{i,j} k_{i,l} \varepsilon_j \varepsilon_l \right|^p &= E \left| \sum_{i=2}^n \sigma_i^2 \sum_{l=2}^{i-1} \varepsilon_l k_{i,l} \sum_{j=1}^{l-1} k_{i,j} \varepsilon_j \right|^p \\ &= E \left| \sum_{i=2}^n \sigma_i^2 \sum_{l=2}^{i-1} k_{i,l} T_{i,l} \right|^p \leq \left(\sum_{i=2}^n \sigma_i^2 \left(E \left| \sum_{l=2}^{i-1} k_{i,l} T_{i,l} \right|^p \right)^{1/p} \right)^p \\ &\leq C \left(\sum_{i=2}^n \left(\sum_{l=2}^{i-1} (E|k_{i,l} T_{i,l}|^p)^{2/p} \right)^{1/2} \right)^p \\ &\leq C \left(\sum_{i=2}^n \left(\sum_{l=2}^{i-1} k_{i,l}^2 \sum_{j=1}^{l-1} k_{i,j}^2 \right)^{1/2} \right)^p \leq C \frac{n^p}{(nh)^{3p}}. \end{aligned}$$

Hence we have

$$\frac{1}{u_n^p} E|U_{n2}|^p = o\left(\frac{n^p/(nh)^{3p}}{1/n^{2p}h^{3p}}\right) = o(1),$$

which implies

$$\frac{1}{u_n} U_{n2} \xrightarrow{\mathbb{P}} 0.$$

From the above discussions, Lemma 3.4 can be obtained. \square

Lemma 3.5. *Let the assumptions (A), (B) and (D) hold, then*

$$\frac{1}{\sqrt{u_n}} I_{1n} \xrightarrow{\mathbb{P}} 0.$$

If, in addition, the assumption (C) holds, then

$$\frac{1}{\sqrt{u_n}} I_{3n} \xrightarrow{\mathbb{P}} 0.$$

Proof. For any $\epsilon > 0$, by using Lemma 3.2, we have

$$\begin{aligned} \mathbb{P} \left(\frac{1}{\sqrt{u_n}} |I_{1n}| > \epsilon \right) &= \mathbb{P} \left(\left| \sum_{i=1}^n k_{i,i} (\varepsilon_i^2 - E(\varepsilon_i^2 | \mathcal{F}_{i-1})) \right| > \epsilon \sqrt{u_n} \right) \\ &\leq \frac{C}{u_n^{p/4}} E \left| \sum_{i=1}^n k_{i,i} (\varepsilon_i^2 - E(\varepsilon_i^2 | \mathcal{F}_{i-1})) \right|^{\frac{p}{2}} \\ &\leq \frac{C}{u_n^{p/4}} \sum_{i=1}^n k_{i,i}^{\frac{p}{2}} E |\varepsilon_i^2 - E(\varepsilon_i^2 | \mathcal{F}_{i-1})|^{\frac{p}{2}} \\ &\leq \frac{C}{u_n^{p/4}} \sum_{i=1}^n k_{i,i}^{\frac{p}{2}} \leq C \frac{1/(nh)^{p-1}}{1/(n^2h^3)^{p/4}} \leq C \frac{h^{1-\frac{p}{4}}}{n^{\frac{p}{2}-1}} \rightarrow 0. \end{aligned}$$

Next we consider the term I_{3n} . From the conditions (C), D(ii), D(iii) and D(iv), we have

$$\begin{aligned} & \left| \sum_{i=1}^n W_i(x)f(x_i) - f(x) \right| \\ & \leq \left| \sum_{i=1}^n |W_i(x)||f(x_i) - f(x)|I(|x_i - x| > n^{-1/2}h^{-1}) \right| \\ & \quad + \left| \sum_{i=1}^n |W_i(x)||f(x_i) - f(x)|I(|x_i - x| \leq n^{-1/2}h^{-1}) \right| \\ & \quad + f(x) \left| \sum_{i=1}^n W_i(x) - 1 \right| \\ & = O(n^{-1/2}h^{-1}). \end{aligned}$$

Hence, for any $\epsilon > 0$, from Lemma 3.3, we have

$$\begin{aligned} & \mathbb{P}\left(\frac{1}{\sqrt{u_n}}|I_{3n}| > \epsilon\right) = \mathbb{P}\left(\left|\sum_{i=1}^n d_i \varepsilon_i\right| > \epsilon \sqrt{u_n}\right) \\ & \leq \frac{C}{u_n^{p/2}} E \left| \sum_{i=1}^n \varepsilon_i \int_0^1 W_i(x)(E\hat{f}_n(x) - f(x))dx \right|^p \\ & \leq \frac{C}{u_n^{p/2}} \left(\sum_{i=1}^n (E|\varepsilon_i|^p)^{2/p} \left(\int_0^1 W_i(x)(E\hat{f}_n(x) - f(x))dx \right)^2 \right)^{p/2} \\ & \leq \frac{C}{u_n^{p/2}} \left(\sum_{i=1}^n \left(\int_0^1 W_i(x)(E\hat{f}_n(x) - f(x))dx \right)^2 \right)^{p/2} \\ & \leq \frac{C}{u_n^{p/2}} \left(\sum_{i=1}^n \left(\int_0^1 W_i^2(x)dx \right) \left(\int_0^1 (E\hat{f}_n(x) - f(x))^2 dx \right) \right)^{p/2} \\ & = \frac{C}{u_n^{p/2}} \left(\sum_{i=1}^n \left(\int_0^1 W_i^2(x)dx \right) \left(\int_0^1 \left(\sum_{i=1}^n W_i(x)f(x_i) - f(x) \right)^2 dx \right) \right)^{p/2} \\ & \leq \frac{C}{u_n^{p/2}} \left(\sum_{i=1}^n \left(\int_0^1 W_i^2(x)dx \right) \right)^{p/2} \left(\frac{1}{nh^2} \right)^{p/2} \\ & \leq C \frac{1/(n^2h^3)^{p/2}}{u_n^{p/2}} = o(1). \end{aligned}$$

From the above discussions, the desired results can be obtained. \square

Proof. [Proof of Theorem 2.2] From the decomposition $I_n - EI_n = I_{1n} + 2I_{2n} + 2I_{3n} + I_{4n}$, Lemma 3.4, Lemma 3.5 and (3.3), Theorem 2.2 can be proved. \square

Proof. [Proof of Theorem 2.3] Let $\{Z_i, 2 \leq i \leq n\}$ be defined in (3.4). For any $\epsilon > 0$, we have

$$\mathbb{P}(a_n|I_{2n}| > \epsilon) \leq Ca_n^2 E \left(\sum_{i=2}^n Z_i \right)^2$$

$$\begin{aligned}
 &= Ca_n^2 \sum_{i=2}^n E \left[\left(\sum_{j=1}^{i-1} k_{i,j} \varepsilon_j \right)^2 E(\varepsilon_i^2 | \mathcal{F}_{i-1}) \right] \\
 &\leq Ca_n^2 \sum_{i=2}^n \sum_{j=1}^{i-1} k_{i,j}^2 = O \left(\frac{a_n^2}{(nh)^2} \right) = o(h).
 \end{aligned}$$

From Lemma 3.5, for any $\epsilon > 0$, we have

$$\mathbb{P} (a_n |I_{1n}| > \epsilon) \leq Ca_n^{\frac{p}{2}} \sum_{i=1}^n k_{i,i}^{\frac{p}{2}} = o \left(\frac{(nh^{3/2})^{p/2}}{(nh)^{p-1}} \right) = o(1)$$

and

$$\begin{aligned}
 \mathbb{P} (a_n |I_{3n}| > \epsilon) &\leq Ca_n^p \left(\sum_{i=1}^n \left(\int_0^1 W_i^2(x) dx \right) \right)^{p/2} \left(\frac{1}{nh^2} \right)^{p/2} \\
 &= O \left(\frac{a_n^p}{(n^2 h^3)^{p/2}} \right) = o(1).
 \end{aligned}$$

From the above discussions, the desired results can be obtained. \square

Proof. [**Proof of Theorem 2.4**] Let $\{Z_i, 2 \leq i \leq n\}$ be defined in (3.4). For any $\epsilon > 0$, from Lemma 3.3 and (3.7), we have

$$\begin{aligned}
 \mathbb{P} (|I_{2n}| > \epsilon) &\leq CE \left| \sum_{i=2}^n Z_i \right|^p \leq C \left(\sum_{i=2}^n (E |Z_i|^p)^{2/p} \right)^{p/2} \\
 &\leq \left(\sum_{i=2}^n \sum_{j=1}^{i-1} k_{i,j}^2 \right)^{p/2} \leq \frac{C}{(nh)^p}.
 \end{aligned}$$

From the proof of Theorem 2.3, we have

$$\mathbb{P} (|I_{1n}| > \epsilon) \leq \frac{C}{(nh)^{p-1}}$$

and

$$\mathbb{P} (|I_{3n}| > \epsilon) \leq \frac{C}{(n^2 h^3)^{p/2}}.$$

\square

References

- [1] Y. S. Chow, H. Teicher, *Probability Theory*, (3rd edition), Springer, LLC, 1997.
- [2] P. Hall, *Central limit theorem for integrated square error of multivariate nonparametric density estimators*, J. Multivariate Anal. **14** (1984), 1-16.
- [3] P. Hall, *Integrated square error properties of kernel estimators of regression functions*, Ann. Statist. **12** (1984), 241-260.
- [4] P. Hall, C. C. Heyde, *Martingale Limit Theory and its Application*, Academic Press, New York (1980), P58.
- [5] D. A. Ioannides, *Integrated square error of nonparametric estimators of regression function: The fixed design case*, Statist. Probab. Lett. **15** (1992), 85-94.
- [6] Y. L. Li, *A martingale inequality and large deviations*, Statist. Probab. Lett. **62** (2003), 317-321.
- [7] E. A. Nadaraya, *Nonparametric estimation of probability densities and regression curves*, Kluwer Academic Publishers, Dordrecht, 1989.
- [8] P. Whittle, *Bounds for the moments of linear and quadratic forms in independent variables*, Theory Probab. Appl. **5** (1960), 302-305.
- [9] X. Y. Wu, J. H. You, X. Zhou, *Asymptotic properties of the LSE in nonparametric regressions with serially correlated errors*, Comm. Statist. Theory Methods **34** (2005), no. 4, 943-953.